Chapter 9 Correction of Errors [II]: Errors Affecting Trial Balance Agreement

9.2 Suspense account (¥iztk =)

If the trial balance does not agree, we should make it agree by opening a suspense account (F¥ & &3tk =). A
suspense account (¥ itk ) is a temporary account (FRP¥t& ) used to record the difference (* % izék 4 $f)
between the debit and credit totals (¥ = £ § = ¢hdt4r) of the trial balance. We put the shortage amount in the

smaller balance (3 ‘&4 e & 38 3% o di | T fre— 3).

Example 1
Trial Balance as at 30 June 2010
Dr Cr
S S
Machinery 60,000
Inventory 20,000
Accounts receivable 5,550
Bank 14,400
Capital 70,000
Accounts payable 30,000
99,950 100,000

To enable the preparation of financial statements, a suspense account was opened to make the trial balance agree.
Hence the amount of shortage was debited to the suspense account as follows (]t » &4 7 & 2F g t«t_g?gavhﬁ ® o

2 A
Suspense
2010 S | 2010 S
Jun 30 Difference as per trial balance 50 | Jun 30 Balance c¢/f 50
Jul 1 Balance b/f 50
As a result, the trial balance was made to agree as follows:
Trial Balance as at 30 June 2010
Dr Cr
S S
Machinery 60,000
Inventory 20,000
Accounts receivable 5,550
Bank 14,400
Capital 70,000
Accounts payable 30,000
Suspense 50
100,000 100,000
In addition, the balance in the suspense account should be shown separately in the balance sheet.
Balance sheet as at 31 December 2008
S S
Non-current assets
Machinery 60,000
Current assets
Inventory 20,000
Accounts receivable 5,550
Bank 14,400
39,950
Less Current liabilities
Accounts payable (30,000)
Net current assets 9,950
69,950
Suspense 50
70,000
Capital 70,000

Note that the suspense account (%35 =) is only a temporary account (X E_§@ft& = ). It will be closed ( § 4 %)

once all the errors are found and corrected (% 35 3} fr { & #75 45 3F15).
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9.3 Errors affecting trial balance agreement (¥ $£:2 8 4 T frergs %)

1 Casting error in a book of original entry (Purchases/Sales/Returns outwards/ Returns inwards)
Suppose the sales journal was cast as $50,400 instead of $54,400, and the following entries were made in the books:
Dr Debtors’ accounts $54,400

Cr Sales account $50,400

The above error would give rise (5142) to a shortage (&4 ) of $4,000 in the credit total ( f 3& $L.%E) of the trial balance.
the shortage (“&4% ) would be recorded in the suspense account (# 3z +& = ) as follows:
Cr Suspense account $4,000

When the error was found (7§ % 3.4¢ 3%), it should be corrected as follows (& { & 4= ):
Dr Suspense account $4,000
Cr Sales account $4,000

2 Single entry (¥ ;% jzt&)
Suppose a cash payment of $1,680 was made to a creditor, K Lee, and the following entry was made in the books:
Cr Cash account $1,680

The above error would give rise to a shortage of $1,680 in the debit total (% 35.3,3f) of the trial balance. The shortage
would be recorded in the suspense account as follows:
Dr Suspense account $1,680

When the error was found, it should be corrected as follows:
Dr K Lee’s account $1,680
Cr Suspense account $1,680

3 Double entry of unequal amounts (% F £ 3g ¢94§ ;% 21&)
Suppose goods were purchased for $12,000 on credit from K Yu, and the following entries were made in the books:
Dr Purchases account $12,000

Cr KYu’saccount $1,200

The above error would give rise to a shortage of $10,800 in the credit total of the trial balance. The shortage would be
recorded in the suspense account as follows:
Cr Suspense account $10,800

When the error was found, it should be corrected as follows:
Dr Suspense account $10,800
Cr K Yu’s account $10,800

4 Incorrect casting of an account (& = 4 3% 114%)

Suppose the debit side of the drawings account was cast as $10,000 instead of $11,000. As a result, the debit balance
in the drawings account would be understated by $1,000. The shortage would be recorded in the suspense account as
follows:

Dr Suspense account $1,000

When the error was found, it should be corrected as follows:
Dr Drawings account $1,000
Cr Suspense account $1,000

5 Incorrect listing of balance in the trial balance (3 £ % 48 7| 4:3F)

Suppose the debit balance of $2,400 of the carriage outwards account was listed as a credit balance in the trial balance.
The above error would give rise to a shortage of $4,800 in the debit total of the trial balance. The shortage would be
recorded in the suspense account as follows:

Dr Suspense account $4,800

When the error was found, it should be corrected as follows:
Cr Suspense account $4,800

There is no need to make any correcting entry in the carriage outwards account because all the entries in it were
correctly made. We only need to take out the error ($4,800) from the suspense account and place the balance of the
carriage outwards account on the correct (i.e., debit) side of the trial balance.

92



Class work 2

1. (a

) Show how each of the following errors would affect the agreement of the trial balance:
(i) The sale of a machine for $640 was credited to the sales account.
(i) A cheque of $370 paid to a creditor, P Liu, was debited to the account of another creditor, P Li.
(iii) Purchases were overcast by $1,000.
(iv) A cheque of $450 paid for rates was correctly entered in the cash book, but had not been posted to any
ledger account.
(v) No entry had been made for an accrued expense of $180.
(vi) Equipment repairs, $720, were debited to the equipment account.
(vii) Discounts allowed amounting to $1,700 were credited to the discounts received account.
(viii) The closing inventory was overvalued by $2,000.
(ix) Commission received of $750 was debited to the sales account.
(x) Drawings of $305 were credited to the capital account.
(xi) A cheque of $170 payable to C Chang was entered in the cash book but not in the personal account.
(xii) A cheque of $248 received from a debtor, L Wu, was credited to the account of another debtor, L Woo.

(b) Show the journal entries to correct the above errors that affected the trial balance.

(a)

ltem | Effect Correct Entries Wrong Entries
(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(b)
Journal
Dr Cr
Details S S
(iii)
(iv)
(vii)
(ix)
(x)
(i)
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2. Itis given the following journal entries.

The Journal
Dr Cr
Details S S
(i) | Drawings 15,000
Bank 10,000
Purchases 5,000
(ii) | Rates 2,950
Suspense 2,950
(iii) | Suspense (538,838 — $38,388) 450
Purchases 450
(iv) | Suspense 3,200
Discounts allowed 1,600
Discounts received 1,600
(v) | Bank 1,500
Bad debts recovered ($3000 x 1/2) 1,500

The trial balance of a business as at 31 December 2009 showed a difference of $700 (credit). If a suspense account

was then opened to record the difference, prepare the suspense account.

Suspense

s

3. The trial balance of a business as at 31 December 2009 showed a difference of $770 (credit). A suspense account
was then opened to record the difference. After preparing the draft financial statement for the year, the errors
causing the difference in the trial balance were found:

A cheque receipt of 51,500 from a debtor, L Kwai, had been correctly recorded in the cash book but had not

(i)
(i)
(iii)
(a)
(b)
(a)

been posted to L Kwai’s account.

The purchases journal had been overcast by $200 and the purchases accounts are closed.

The credit side of the discounts received had been overcast by $930 and the discounts received accounts are

closed.

Show the journal entries to correct the above errors.

Prepare the suspense account

Journal
Dr Cr
Details S S
(i)
(if)
(iii)
(b)
Suspense
$ S
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9.4 Adjustments of profits (& # %)

Some errors would affect the profit while others would not. If an error affects the items in the income statement (4%
BAF E %30 P 114%), such as cost of goods sold, expenses or other revenues (H]4dl |/ 3 & ~ & * 24 3 ¥ j2 ¥), the
profit would be affected (£ ]2 #4]i{ § % F|HF).

Usually, the credit journal entries of expenses, revenues and profit and loss account (B % >z » 2 4f ¥ B et & » k)
will raise the net profit (€ #& % ! i#) but the debit journal entries of expenses, revenues and profit and loss account
(7 B s fo~ 2 Jf EReefl * » PE) will reduce the net profit ( € j > {]7). For example

Journal
Details Dr Cr Net profit
(i) |Profit and loss — Purchases 279 Decrease
Accounts payable 279
(ii) |Profit and loss — Wages 12,800 Decrease
Building 12,800
(iii) | Suspense 390 Increase
Profit and loss — Dividend revenue 390
Reason of add net profit: (1) Expenses overcast (2) Revenue undercast
Reason of less net profit: (1) Expenses undercast (2) Revenue overcast
Candidates are usually required to show all the adjustments to the net profit in a statement as follows:
Statement of Corrected Net Profit for the year ended 31 December 2009
S S
Net profit as per draft accounts 25,800
Add Dividend revenue undercast(iii) 390
26,190
Less Purchases undercast (i) 279
Wages undercast (ii) 12,800 (13,079)
Corrected net profit 13,111

Class work 3

1. (a) Determine whether the following errors would affect the net profit or not and how:
(i) A cheque receipt of $1,500 from a debtor, L Kwai, had been correctly recorded in the cash book but had

not been posted to L Kwai’s account.
(i) The purchases journal had been overcast by $200.
(iii) The credit side of the discounts received account had been overcast by $930.
(b) Suppose the draft net profit for the year ended 31 December 2009 was calculated to be $25,800. Recalculate

the correct net profit figure.

(a)

Journal
Details Dr Cr

(ii)

(i)

Statement of Corrected Net Profit for the year ended 31 December 2009
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9.5 Adjustments of working capital (¥ i& 7 £ 3 ¥)

Working capital (¥ i& § &) refers to (£.45) the excess of current assets over current liabilities (776 3 £ F 3k & §
f eh 4 3F). It can be positive (net current assets) (i /i F &) or negative (net current liabilities) (7 i # £ ). If an
error affects current assets (i $+ F &) and/or current liabilities (/i # § i ), working capital would also be affected

(¥FTF &€ FHEEFIRE.

Usually, the debit journal entries of current assets and current liabilities (i #+ 3 & % i f i 0¥ 3 » g&) will raise
the working capital (§ #& 3 ¥ i 3 £) but the credit journal entries of current assets and current liabilities (% Jit #
FA 2 ind R > » BR) will reduce the working capital (§ 7 > ¥ 3 § £). For example:

Journal
Details Dr Cr Working capital
(i) |Suspense 1,500 Decrease

Accounts receivable — Charles 1,500

(ii) |Suspense 200 Nil
Profit and loss — Purchases 200

(iii) |Cash 500 Increase
Suspense 500

Reason of add working capital: (1) Current liabilities overcast (2) Current assets undercast

Reason of less working capital: (2) Current liabilities undercast (2) Current assets overcast

candidates are usually required to show all the adjustments to the working capital in a statement as follows:

Statement of Corrected Working Capital as at 31 December 2009

S

Working capital as per draft accounts 78,000
Add Cash undercast (iii) 500
78,500

Less Accounts receivable overstated (i) (1,500)
Corrected Working capital 77,000

Class work 4

1. (a) Show the journal entries to correct the following errors.
(i) A cheque receipt of $1,500 from a debtor, L Kwai, had been correctly recorded in the cash book but had

not been posted to L Kwai’s account.
(i) The purchases journal had been overcast by $200.
(iii) The credit side of the discounts received account had been overcast by $930.
(b) Suppose the draft working capital for the year ended 31 December 2009 was calculated to be $25,800.

Recalculate the correct working capital.

(a)

Journal

Details S S

(i)

(ii)

(iii)

Statement of Corrected Working Capital as at 31 December 2009
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